		2013 Annual Lining Contract			UN	IT PRICE IN FI	GURE	S	Engineer's Estimate	La	vne Inliner, LLC	1	Miller Pipeline	Insituform Tec	hnologies, LLC	Inland Waters	Pollution Control, Inc.
		650404-100040				1		TOTAL SUM		TOTAL SUM		TOTAL SUM	I	TOTAL SUM		TOTAL SUM	
		Bid Opening Date: Jaunary 15, 2014						OF	TOTAL	OF	TOTAL	OF	TOTAL	OF	TOTAL	OF	TOTAL
		, ,						MATERIAL	IN	MATERIAL	IN	MATERIAL	IN	MATERIAL	IN	MATERIAL	IN
REF.	ITEM		ESTIMATED		MATERIAL	LABOR		AND LABOR	FIGURES	AND LABOR	FIGURES	AND LABOR	FIGURES	AND LABOR	FIGURES	AND LABOR	FIGURES
NO.	NO.	DESCRIPTION	QUANTITIES	UNIT	\$ ".00"	\$	".00"	\$	\$	\$	\$	\$	\$	\$	\$	\$	\$
PLAN	ITEMS																
1		Manholes, in Pavement	1	EA				9,000.00	9,000.00	10,000.00	10,000.00	9,900.00	9,900.00	9,523.50	9,523.50	9,500.00	9,500.00
2	614	Maintaining Traffic	1	LS				25,000.00	25,000.00	35,000.00	35,000.00	35,200.00	35,200.00	57,865.30	57,865.30	180,000.00	180,000.00
3	-	8-inch, Bypass Pumping	1	LS				5,000.00	5,000.00	8,000.00	8,000.00	13,450.00	13,450.00	1.00	1.00	4,550.00	4,550.00
4		10-inch, Bypass Pumping	1	LS				1,000.00	1,000.00	2,000.00	2,000.00	2,020.00	2,020.00	1.00	1.00	4,650.00	4,650.00
5	SS-3	12-inch, Bypass Pumping	1	LS				3,500.00	3,500.00	3,000.00	3,000.00	5,390.00	5,390.00	1.00	1.00	5,500.00	5,500.00
6		15-inch, Bypass Pumping	1	LS				25,000.00	25,000.00	4,000.00	4,000.00	6,750.00	6,750.00	1.00	1.00	5,500.00	5,500.00
7	SS-3	18-inch, Bypass Pumping	1	LS				14,000.00	14,000.00	6,000.00	6,000.00	2,700.00	2,700.00	20,003.50	20,003.50	40,000.00	40,000.00
8	SS-3	21-inch, Bypass Pumping	1	LS				15,000.00	15,000.00	7,000.00	7,000.00	9,000.00	9,000.00	49,556.50	49,556.50	7,500.00	7,500.00
9	SS-3	24-inch, Bypass Pumping	1	LS				6,500.00	6,500.00	3,000.00	3,000.00	2,700.00	2,700.00	97,534.70	97,534.70	11,250.00	11,250.00
10	SS-3	36-inch, Bypass Pumping	1	LS				20,000.00	20,000.00	5,000.00	5,000.00	2,700.00	2,700.00	1.00	1.00	12,350.00	12,350.00
11	SS-3	48-inch, Bypass Pumping	1	LS				20,000.00	20,000.00	7,000.00	7,000.00	2,700.00	2,700.00	1.00	1.00	7,700.00	7,700.00
12	SS-4	8-inch, Sewer Cleaning	59,260	LF				1.20	71,112.00	2.00	118,520.00	1.30	77,038.00	3.10	183,706.00	3.00	177,780.00
13	SS-4	10-inch, Sewer Cleaning	8,690	LF				1.20	10,428.00	2.00	17,380.00	1.30	11,297.00	2.90	25,201.00	3.00	26,070.00
14	SS-4	12-inch, Sewer Cleaning	3,730	LF				1.20	4,476.00	2.00	7,460.00	1.30	4,849.00	2.80	10,444.00	3.25	12,122.50
15	SS-4	15-inch, Sewer Cleaning	4,230	LF				1.20	5,076.00	2.00	8,460.00	1.30	5,499.00	2.80	11,844.00	3.35	14,170.50
16		18-inch, Sewer Cleaning	1440	LF				4.00	5,760.00	3.00	4,320.00	2.15	3,096.00	3.40	4,896.00	3.35	4,824.00
17		21-inch, Sewer Cleaning	880	LF				4.00	3,520.00	4.00	3,520.00	2.50	2,200.00	3.80	3,344.00	3.50	3,080.00
-		24-inch, Sewer Cleaning	132	LF				5.00	660.00	4.00	528.00	3.05	402.60	3.80	501.60	3.50	462.00
-		36-inch, Sewer Cleaning	440	LF				6.00	2,640.00	5.00	2,200.00	4.40	1,936.00	4.10	1,804.00	5.00	2,200.00
20		48-inch, Sewer Cleaning	241	LF				8.00	1,928.00	8.00	1,928.00	6.60	1,590.60	5.40	1,301.40	5.25	1,265.25
		8-inch, Heavy Sewer Cleaning, as Directed by							· · · · · · · · · · · · · · · · · · ·		,		,		,		ŕ
21	SS-4	the Engineer	17,780	LF				0.50	8,890.00	0.60	10,668.00	0.55	9,779.00	4.10	72,898.00	4.65	82,677.00
22	SS-4	10-inch, Heavy Sewer Cleaning, as Directed	2,610	LF				0.50	1,305.00	0.60	1,566.00	0.55	1,435.50	3.80	9,918.00	5.35	13,963.50
22	55-4	by the Engineer	2,010	121				0.50	1,303.00	0.00	1,500.00	0.55	1,435.50	3.80	<i>)</i> , <i>)</i> 10.00	3.33	13,703.30
23	SS-4	12-inch, Heavy Sewer Cleaning, as Directed	1,120	LF				0.50	560.00	0.60	672.00	0.55	616.00	3.70	4,144.00	5.35	5,992.00
		by the Engineer 15-inch, Heavy Sewer Cleaning, as Directed															
24	SS-4	by the Engineer	1,270	LF				0.50	635.00	0.60	762.00	0.55	698.50	3.70	4,699.00	5.80	7,366.00
25	SS-4	18-inch, Heavy Sewer Cleaning, as Directed	440	LF				1.00	440.00	0.60	264.00	0.55	242.00	4.30	1,892.00	5.80	2,552.00
	33-4	by the Engineer	440	LI.				1.00	440.00	0.00	204.00	0.55	242.00	4.30	1,092.00	3.80	2,332.00
26	SS-4	21-inch, Heavy Sewer Cleaning, as Directed by the Engineer	270	LF				1.50	405.00	1.20	324.00	1.10	297.00	4.70	1,269.00	6.15	1,660.50
		24-inch, Heavy Sewer Cleaning, as Directed															
27	55-4	by the Engineer	40	LF				2.00	80.00	1.80	72.00	1.65	66.00	4.70	188.00	6.15	246.00
28	SS_1	36-inch, Heavy Sewer Cleaning, as Directed	140	LF				3.00	420.00	2.20	308.00	2.20	308.00	4.90	686.00	12.25	1,715.00
26	33-4	by the Engineer	140	ът.		ļ	—	5.00	720.00	2.20	300.00	2.20	500.00	4.50	000.00	12.23	1,713.00
29	SS-4	48-inch, Heavy Sewer Cleaning, as Directed by the Engineer	80	LF				4.00	320.00	3.50	280.00	3.60	288.00	3.00	240.00	14.00	1,120.00
30		8-inch, Sewer Televising	59,260	LF				1.80	106,668.00	1.50	88,890.00	0.90	53,334.00	1.60	94,816.00	1.25	74,075.00
-	-	_		LF		1			,		,		,		ŕ		<i>'</i>
-		10-inch, Sewer Televising	8,690	1		1	1	1.80	15,642.00	1.50	13,035.00	0.90	7,821.00	1.50	13,035.00	1.25	10,862.50
_		12-inch, Sewer Televising	3,730	LF		ļ		1.80	6,714.00	1.80	6,714.00	0.90	3,357.00	1.40	5,222.00	1.25	4,662.50
33	SS-5	15-inch, Sewer Televising	4,230	LF				2.10	8,883.00	1.80	7,614.00	0.90	3,807.00	1.40	5,922.00	1.25	5,287.50
34	SS-5	18-inch, Sewer Televising	1440	LF				2.10	3,024.00	2.00	2,880.00	0.90	1,296.00	1.60	2,304.00	1.35	1,944.00
35	SS-5	21-inch, Sewer Televising	880	LF				2.30	2,024.00	3.00	2,640.00	0.90	792.00	1.70	1,496.00	1.35	1,188.00
36	SS-5	24-inch, Sewer Televising	132	LF		Ī		2.50	330.00	4.00	528.00	0.90	118.80	1.70	224.40	1.50	198.00
_		36-inch, Sewer Televising	440	LF				3.00	1,320.00	5.00	2,200.00	0.90	396.00	1.70	748.00	1.75	770.00
-				1 1		1			· · · · · · · · · · · · · · · · · · ·		,						
38	SS-5	48-inch, Sewer Televising	241	LF		<u> </u>	ш	4.00	964.00	8.00	1,928.00	0.90	216.90	2.30	554.30	1.75	421.75

Process Proc			2013 Annual Lining Contract			Ţ	JNIT PRICE IN	FIGURE	ES	Engineer's Estimate	La	vne Inliner, LLC		Miller Pipeline	Insituform Tee	chnologies, LLC	Inland Waters I	Pollution Control, Inc.
No. Control			S						TOTAL SUM			Jile Illinier, EEC		Tipeline		Limologics, EEC		ondition Control, Inc.
1			Bid Opening Date: Jaunary 15, 2014	l													_	
Note	REF.	ITEM		ESTIMATED		MATERIAL	LABC	R										
Column C	NO.	NO.	DESCRIPTION	QUANTITIES	UNIT	\$ ".0	00" \$	".00'	\$	\$	\$	\$	\$	\$	\$	\$	\$	\$
	39	SS-7		10	CF				100.00	1,000.00	56.00	560.00	33.00	330.00	52.90	529.00	45.00	450.00
	40	SS-10	Replace Manhole Frame and Cover	550	EA				950.00	522,500.00	972.00	534,600.00	990.00	544,500.00	935.50	514,525.00	900.00	495,000.00
	41	SS-10	Concrete Collar	220	EA				750.00	165,000.00	528.00	116,160.00	550.00	121,000.00	502.60	110,572.00	500.00	110,000.00
March Color Colo	42	SS-10	Flexible Chimney Seal	550	EA				400.00	220,000.00	278.00	152,900.00	325.00	178,750.00	263.50	144,925.00	360.00	198,000.00
Note Part	43	SS-10	Manhole Lining	5790	VF				150.00	868,500.00	127.00	735,330.00	126.50	732,435.00	139.30	806,547.00	125.00	723,750.00
	44	SS-10		5	EA				760.00	3,800.00	556.00	2,780.00	550.00	2,750.00	529.10	2,645.50	500.00	2,500.00
Secondary Conference Conf	45	SS-10		5	EA				570.00	2,850.00	278.00	1,390.00	385.00	1,925.00	264.50	1,322.50	275.00	1,375.00
S S S S S S S S S S	46	SS-10		5	EA				790.00	3,950.00	500.00	2,500.00	517.00	2,585.00	476.20	2,381.00	490.00	2,450.00
	47	SS-11	•	5	EA				320.00	1,600.00	445.00	2,225.00	2,250.00	11,250.00	206.20	1,031.00	500.00	2,500.00
For Sect Sect Conference Property Sect	48	SS-11		5	EA				200.00	1,000.00	278.00	1,390.00	500.00	2,500.00	497.80	2,489.00	400.00	2,000.00
No.	49	SS-12		59,260	LF				24.00	1,422,240.00	21.00	1,244,460.00	26.75	1,585,205.00	27.80	1,647,428.00	33.75	2,000,025.00
1	50	SS-12	10-inch CIPP 6.0 mm Min Thickness	8,690	LF				29.00	252,010.00	22.00	191,180.00	27.95	242,885.50	31.20	271,128.00	35.50	308,495.00
Fig.	51	SS-12	12-inch CIPP, 6.0 mm Min Thickness	3,730	LF				31.00	115,630.00	28.00	104,440.00	38.55	143,791.50	37.70	140,621.00	47.00	175,310.00
Sect	52	SS-12	15-inch CIPP 7.5 mm Min Thickness	4,230	LF				58.00	245,340.00	38.00	160,740.00	42.50	179,775.00	46.10	195,003.00	48.50	205,155.00
5	53	SS-12	18-inch CIPP 9.0 mm Min Thickness	1440	LF				65.00	93,600.00	46.00	66,240.00	55.25	79,560.00	51.00	73,440.00	50.00	72,000.00
Fig. Sect. Sect. Processes Proce	54	SS-12	21-inch CIPP 10.5 mm Min Thickness	880	LF				75.00	66,000.00	65.00	57,200.00	66.25	58,300.00	71.90	63,272.00	81.50	71,720.00
Stock Stock COPY ADD make Trial-bases 24	55	SS-12	24-inch CIPP 12.0 mm Min Thickness	132	LF				80.00	10,560.00	89.00	11,748.00	173.50	22,902.00	101.20	13,358.40	99.50	13,134.00
Section Sect	56	SS-12	36-inch CIPP 18.0 mm Min Thickness	440	LF				230.00	101,200.00	110.00	48,400.00	180.50	79,420.00	121.40	53,416.00	142.50	62,700.00
18 18 18 18 18 18 18 18	57	SS-12	48-inch CIPP 24.0 mm Min Thickness	241	LF				350.00	84,350.00	228.00	54,948.00	275.00	66,275.00	326.40	78,662.40	355.00	85,555.00
Second Control Con	58	SS-12	or Decrease (8" CIPP)	1	LF				2.20	2.20	1.50	1.50	2.40	2.40	1.30	1.30	1.00	1.00
Fig. Section Commence Com	59	SS-12		1	LF				2.60	2.60	1.80	1.80	3.30	3.30	1.50	1.50	1.50	1.50
Set Set Decease (IS C-(IPF) I II II II II II II I	60	SS-12		1	LF				3.00	3.00	2.00	2.00	4.40	4.40	1.70	1.70	1.60	1.60
Secondary Seco	61	SS-12	or Decrease (15" CIPP)	1	LF				3.50	3.50	2.25	2.25	10.00	10.00	2.10	2.10	2.25	2.25
Set Set Set	62	SS-12	or Decrease (18" CIPP)	1	LF				4.00	4.00	2.50	2.50	11.00	11.00	3.70	3.70	2.25	2.25
6 SS-12 I.5 mm Incremental Wall Thickness Increase 1 LF 1 10,00 10,00 4.00 4.00 4.00 17,00 17,00 4.20 4.20 4.75 4.75	63	SS-12	or Decrease (21" CIPP)	1	LF				4.00	4.00	3.00	3.00	13.00	13.00	3.80	3.80	3.25	3.25
Solid Specific S	64	SS-12	or Decrease (24" CIPP)	1	LF				4.50	4.50	3.25	3.25	15.00	15.00	3.80	3.80	3.25	3.25
Solidar Soli	65	SS-12		1	LF				7.00	7.00	4.00	4.00	17.00	17.00	4.20	4.20	4.75	4.75
SS-12 Letral Sewer Reestablished 2250 EA 100.00 225,000.00 50.00 112,500.00 115,000.00 115,000.00 152.40 342,900.00 60.00 135,000.00	66	SS-12	1.5 mm Incremental Wall Thickness Increase	1	LF				10.00	10.00	6.50	6.50	20.00	20.00	6.30	6.30	5.00	5.00
Super Force Account (.10 x Sum of Items 1 through 67) Super Force	67	SS-12		2250	EA				100.00	225,000.00	50.00	112,500.00	115.00	258,750.00	152.40	342,900.00	60.00	135,000.00
Second S									Sub-Total	\$4,814,394.80	Sub-Total	\$3,997,378.80	Sub-Total	\$4,600,272.00	Sub-Total	\$5,164,011.40	Sub-Total	\$5,414,319.35
TOTAL \$5,295,834.28 TOTAL \$4,397,116.68 TOTAL \$5,060,299.20 TOTAL \$5,680,412.54 TOTAL \$5,955,751.29 The Bidder's Total is for information only at the time of opening bids. The City will make the extension and if there are differences in the totals, the Unit or Lump Sum Price shall govern. Bond Amount (Page P-46) Bonding Company (Page P-46) Travelers Casualty and Surety Co. of America Travelers Casualty and Surety Co. of America Travelers Casualty and Surety Co. of America Proposal Bond Amount Required (P-46) Required (P-46) Story Contract Compliance No. TOTAL \$5,680,412.54 TOTAL \$5,955,751.29 Bond Amount (Page P-46) Bonding Company (Page P-46) Travelers Casualty and Surety Co. of America Surety Co. of America Proposal Bond Amount Required (P-46) Story Contract Compliance No. Proposal Bond Amount Required (P-46) Story Contract Compliance No. Contract Com	68	Spec.	Force Account (.10 x Sum of Items 1 through	67)					~uo 10tti	\$481,439.48	200 1000	\$399,737.88	202 1041		202 1041	i e	540 15411	\$541,431.94
Sum Price shall govern. 46) 10% Bonding Company (Page P-46) America Travelers Casualty and Surety Co. of America Proposal Bond Amount Required (P-46) Required (P-46) Contract Compliance No. Contract Compliance No									TOTAL	\$5,295,834.28	TOTAL	\$4,397,116.68	TOTAL	\$5,060,299.20	TOTAL	\$5,680,412.54	TOTAL	\$5,955,751.29
Bonding Company (Page P-46) Travelers Casualty and Surety Co. of America Proposal Bond Amount Required (P-46) Required (P-46) Travelers Casualty and Surety Co. of America Proposal Bond Amount Required (P-46) Required (P-46) Travelers Casualty and Surety Co. of America Surety Co. of America Proposal Bond Amount Required (P-46) Required (P-46) Contract Compliance No. Contract			•	opening bids.	The City	will make the ex	xtension and if	here ar	e differences in th	e totals, the Unit or Lump	Bond Amount (Page P-46)			10%		10%		10%
The Bidder shall insert its Contract Compliance Certification Number on the following line or attach a completed application. Proposal Bond Amount Required (P-46) \$439,711.67 Required (P-46) \$506,029.92 Proposal Bond Amount Required (P-46) \$506,029.92 Contract Compliance No. Contract Compliance No. Contract Compliance No. Contract Compliance No.												Travelers Casualty and Surety Co. of		Travelers Casualty and Surety Co. of		Travelers Casualty and	Bonding Company (Page P-46)	Arch Insurance Company
Contract Compliance No. Contra	The E	Bidder sl	hall insert its Contract Compliance Certific	ation Number o	on the fo	llowing line or at	ttach a complete	ed appli	cation.				Proposal Bond Amount Required (P-46)					\$595,575.13
m1a2c1=1//													Contract Compliance No.	35-1959522	Contract Compliance No. (Page P-17)	13-3032158	Contract Compliance No. (Page P-17)	20-8630545

		2013 Annual Lining Contract			UNI	T PRICE IN FIC	GURES		Engineer's Estimate	Lay	ne Inliner, LLC		Miller Pipeline	Insituform Tec	hnologies, LLC	Inland Waters	Pollution Control, Inc.
		650404-100040		ĺ			TO	OTAL SUM		TOTAL SUM		TOTAL SUM		TOTAL SUM		TOTAL SUM	
		Bid Opening Date: Jaunary 15, 2014						OF	TOTAL	OF	TOTAL	OF	TOTAL	OF	TOTAL	OF	TOTAL
							M.	IATERIAL	IN	MATERIAL	IN	MATERIAL	IN	MATERIAL	IN	MATERIAL	IN
RE	F. ITEM		ESTIMATED		MATERIAL	LABOR	AN	ND LABOR	FIGURES	AND LABOR	FIGURES	AND LABOR	FIGURES	AND LABOR	FIGURES	AND LABOR	FIGURES
NO	O. NO.	DESCRIPTION	QUANTITIES	UNIT	\$ ".00"	\$	".00"	\$	\$	\$	\$	\$	\$	\$	\$	\$	\$
Co	ntract Cor	npliance No.:		Fede	eral I.D. No:					Non-Collusion Affidavit Completed? (Page P-37)	7	Non-Collusion Affidavit Yes Completed? (Page P-37)		Non-Collusion Affidavit Completed? (Page P-37)		Non-Collusion Affidavit Completed? (Page P-37)	Yes
										Local Vendor? Y/N	•	Yes Local Vendor? Y/N	No	Local Vendor? Y/N	No	Local Vendor? Y/N	No
										Addendum		Addendum		Addendum		Addendum	
		NOTES:								Acknowledgement Completed? (Page-44)	•	Acknowledgement Yes Completed? (Page-44)		Acknowledgement Completed? (Page-44)		Acknowledgement Completed? (Page-44)	Yes
	1.) Lay	ne Inliner apparent Low Bidder								Proposal Affidavit Completed? (Page P-39)	•	Proposal Affidavit Yes Completed? (Page P-39)		Proposal Affidavit Completed? (Page P-39)		Proposal Affidavit Completed? (Page P-39)	Yes

	NOTES:
1.)) Layne Inliner apparent Low Bidder
2.)	Areas highlighted in yellow have errors.
	- Miller Pipeline math error: Line 31 8690 x \$0.90 = \$7,821 not 3,064
	Miller Pipeline math errors: Line 50 8690 x \$27.95 = \$242,885.5 t \$250,432
	- Miller Pipeline's corrected total is \$5,060,299.20 not 4,068,867.65

						UN	NIT PRICE IN	FIGUE	RES		EXTENSION
REF.	ITEM		ESTIMATED		MATERIA	AL	LABOR		TOTAL SUN OF MATERIAI AND LABO		TOTAL IN FIGURES
NO.	NO.	DESCRIPTION	QUANTITIES	UNIT	\$	".00"	\$	".00"	\$	".00"	\$
PLAN	ITEMS										
1	604	Manholes, in Grass	4	EA					5,650.00		22,600.00
2	604	Manholes, in Pavement	6	EA					9,000.00		54,000.00
3	614	Maintaining Traffic	1	LS					25,000.00		25,000.00
4	SS-3	8-inch, Bypass Pumping	1	LS					5,000.00		5,000.00
5	SS-3	10-inch, Bypass Pumping	1	LS					1,000.00		1,000.00
6	SS-3	12-inch, Bypass Pumping	1	LS					3,500.00		3,500.00
7	SS-3	15-inch, Bypass Pumping	1	LS					25,000.00		25,000.00
8	SS-3	18-inch, Bypass Pumping	1	LS					14,000.00		14,000.00
9	SS-3	21-inch, Bypass Pumping	1	LS					15,000.00		15,000.00
10	SS-3	24-inch, Bypass Pumping	1	LS					6,500.00		6,500.00
11	SS-3	36-inch, Bypass Pumping	1	LS					20,000.00		20,000.00
12	SS-3	48-inch, Bypass Pumping	1	LS					20,000.00		20,000.00
13	SS-4	8-inch, Sewer Cleaning	59,260	LF					1.20		71,112.00
14	SS-4	10-inch, Sewer Cleaning	8,690	LF					1.20		10,428.00
15	SS-4	12-inch, Sewer Cleaning	3,730	LF					1.20		4,476.00
16	SS-4	15-inch, Sewer Cleaning	4,230	LF					1.20		5,076.00
17	SS-4	18-inch, Sewer Cleaning	1440	LF					4.00		5,760.00
18	SS-4	21-inch, Sewer Cleaning	880	LF					4.00		3,520.00
19	SS-4	24-inch, Sewer Cleaning	132	LF					5.00		660.00

						U	NIT PRICE IN	FIGUE	RES		EXTENSION
REF.	ITEM		ESTIMATED		MATERI <i>A</i>	AL	LABOR		TOTAL SUN OF MATERIAI AND LABO	_	TOTAL IN FIGURES
NO.	NO.	DESCRIPTION	QUANTITIES	UNIT	\$	".00"	\$	".00"	\$	".00"	\$
20	SS-4	36-inch, Sewer Cleaning	440	LF					6.00		2,640.00
21	SS-4	48-inch, Sewer Cleaning	241	LF					8.00		1,928.00
22	SS-4	8-inch, Heavy Sewer Cleaning, as Directed by the Engineer	17,780	LF					0.50		8,890.00
23	SS-4	10-inch, Heavy Sewer Cleaning, as Directed by the Engineer	2,610	LF					0.50		1,305.00
24	SS-4	12-inch, Heavy Sewer Cleaning, as Directed by the Engineer	1,120	LF					0.50		560.00
25	SS-4	15-inch, Heavy Sewer Cleaning, as Directed by the Engineer	1,270	LF					0.50		635.00
26	SS-4	18-inch, Heavy Sewer Cleaning, as Directed by the Engineer	440	LF					1.00		440.00
27	SS-4	21-inch, Heavy Sewer Cleaning, as Directed by the Engineer	270	LF					1.50		405.00
28	SS-4	24-inch, Heavy Sewer Cleaning, as Directed by the Engineer	40	LF					2.00		80.00
29	SS-4	36-inch, Heavy Sewer Cleaning, as Directed by the Engineer	140	LF					3.00		420.00
30	SS-4	48-inch, Heavy Sewer Cleaning, as Directed by the Engineer	80	LF					4.00		320.00
31	SS-5	8-inch, Sewer Televising	59,260	LF					1.80		106,668.00
32	SS-5	10-inch, Sewer Televising	8,690	LF					1.80		15,642.00
33	SS-5	12-inch, Sewer Televising	3,730	LF					1.80		6,714.00

						U	NIT PRICE IN	FIGUE	RES		EXTENSION
REF.	ITEM		ESTIMATED		MATERIA	A L	LABOR		TOTAL SUN OF MATERIAI AND LABO	_	TOTAL IN FIGURES
NO.	NO.	DESCRIPTION	QUANTITIES	UNIT	\$	".00"	\$	".00"	\$	".00"	\$
34	SS-5	15-inch, Sewer Televising	4,230	LF					2.10		8,883.00
35	SS-5	18-inch, Sewer Televising	1440	LF					2.10		3,024.00
36	SS-5	21-inch, Sewer Televising	880	LF					2.30		2,024.00
37	SS-5	24-inch, Sewer Televising	132	LF					2.50		330.00
38	SS-5	36-inch, Sewer Televising	440	LF					3.00		1,320.00
39	SS-5	48-inch, Sewer Televising	241	LF					4.00		964.00
40	SS-7	Cementitious Grouting, as Directed by the Engineer	10	CF					100.00		1,000.00
41	SS-10	Replace Manhole Frame and Cover	580	EA					950.00		551,000.00
42	SS-10	Concrete Collar	355	EA					750.00		266,250.00
43	SS-10	Flexible Chimney Seal	360	EA					400.00		144,000.00
44	SS-10	Manhole Lining	5790	VF					150.00		868,500.00
45	SS-10	Bench and Channel Reconstruction, as Directed by the Engineer	5	EA					760.00		3,800.00
46	SS-10	Raise Manhole Cover to Grade, as Directed by The Engineer	5	EA					570.00		2,850.00
47	SS-10	Raise Manhole Frame and Cover to Grade, as Directed by The Engineer	5	EA					790.00		3,950.00
48	SS-11	Lateral Sewer Televised, as Directed by the Engineer	5	EA					320.00		1,600.00

						U	NIT PRICE IN	FIGUE	RES		EXTENSION
									TOTAL SUN OF MATERIAI		TOTAL IN
REF.	ITEM		ESTIMATED		MATERIA	A L	LABOR		AND LABO	R	FIGURES
NO.	NO.	DESCRIPTION	QUANTITIES	UNIT	\$	".00"	\$	".00"	\$	".00"	\$
49	SS-11	Lateral Sewer Dye Tested, as Directed by the Engineer	5	EA					200.00		1,000.00
50	SS-12	8-inch CIPP, 6.0 mm Min Thickness	59,260	LF					24.00		1,422,240.00
51	SS-12	10-inch CIPP 6.0 mm Min Thickness	8,690	LF					29.00		252,010.00
52	SS-12	12-inch CIPP, 6.0 mm Min Thickness	3,730	LF					31.00		115,630.00
53	SS-12	15-inch CIPP 7.5 mm Min Thickness	4,230	LF					58.00		245,340.00
54	SS-12	18-inch CIPP 9.0 mm Min Thickness	1440	LF					65.00		93,600.00
55	SS-12	21-inch CIPP 10.5 mm Min Thickness	880	LF					75.00		66,000.00
56	SS-12	24-inch CIPP 12.0 mm Min Thickness	132	LF					80.00		10,560.00
57	SS-12	36-inch CIPP 18.0 mm Min Thickness	440	LF					100.00		44,000.00
58	SS-12	48-inch CIPP 24.0 mm Min Thickness	241	LF					120.00		28,920.00
59	SS-12	1.5 mm Incremental Wall Thickness Increase or Decrease (8" CIPP)	1	LF					2.20		2.20
60	SS-12	1.5 mm Incremental Wall Thickness Increase or Decrease (10" CIPP)	1	LF					2.60		2.60
61	SS-12	1.5 mm Incremental Wall Thickness Increase or Decrease (12" CIPP)	1	LF					3.00		3.00
62	SS-12	1.5 mm Incremental Wall Thickness Increase or Decrease (15" CIPP)	1	LF					3.50		3.50
63	SS-12	1.5 mm Incremental Wall Thickness Increase or Decrease (18" CIPP)	1	LF					4.00		4.00
64	SS-12	1.5 mm Incremental Wall Thickness Increase or Decrease (21" CIPP)	1	LF					4.00		4.00

						Uì	NIT PRICE IN	I FIGUE	RES		EXTENSION
REF.	ITEM		ESTIMATED		MATEI	RIAL	LABOF	₹	TOTAL SU OF MATERIA AND LABO	L	TOTAL IN FIGURES
NO.	NO.	DESCRIPTION	QUANTITIES	UNIT	\$	".00"	\$	".00"	\$	".00"	\$
65	SS-12	1.5 mm Incremental Wall Thickness Increase or Decrease (24" CIPP)	1	LF					4.50		4.50
66	SS-12	1.5 mm Incremental Wall Thickness Increase or Decrease (36" CIPP)	1	LF					5.00		5.00
67	SS-12	1.5 mm Incremental Wall Thickness Increase or Decrease (48" CIPP)	1	LF					6.00		6.00
68	SS-12	Lateral Sewer Reestablished	2250	EA					100.00		225,000.00
									Sub-Total	1 \$	\$4,823,109
69	Spec.	Force Account (.20 x Sum of Items 1 throu	gh 68)								\$482,311
									TOTAL	\$	\$5,305,420

The Bidder's Total is for information only at the time of opening bids. The City will make the extension and if there are differences in the totals, the Unit or Lump Sum Price shall govern.

The Bidder shall insert its Contract Compliance Certification Number on	the following line or attach a completed application.
Contract Compliance No.:	Federal I.D. No:

V		
	".00"	
Ī		
-		
L		
ŀ		
-		
Ī		
-		
-		
ŀ		
-		
ŀ		

1	
".00"	

1		
•		
I		
	".00"	

1		
	".00"	
	.00	

	1	
•		
Ī	".00"	
	.00	